
1) Find area of square 
having each side (s)
equals 5146 cm

Answer: ____________

2) Simplify 59:70

Answer: ____________

3) 2480 ÷ 62

Answer: ____________

4) 1854 - 5923.7

Answer: ____________

5) b

a o c
Measure angle boa 

Answer: ____________

6) Factorise 3q2 + 14q + 15

Answer: ____________

7) Find area of square 
having each side (s)
equals 7587 m

Answer: ____________

8) Round 11.30184221611701 to 7 
decimal places.

Answer: ____________

9) What would you multiply by to 
decrease an amount by 28%?

Answer: ____________

10) 6040 + (-1844)

Answer: ____________

Total: ___ / 10
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Answers:

1) 26481316cm 2) 59 : 70 3) 40 4) -4069.7 5) 53 6) (1q + 3)(q + 5) 7) 57562569m

8) 11.3018422 9) 0.72 10) 4196
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